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Writing Reactions

For the following reactions:

a) Identify the type of reaction: Synthesis=S; Decomposition=D; Single replacement=SR; Double Replacement=DR; Combustion=CB

b) Write the names of the product(s). 

c) Write the equation with reactants and products (don’t forget the phases) 

d) Balance the equation. 
e) Write NR on the right if the reaction will not occur.


Ex. Calcium and Cobalt (III) nitrate yield (Calcium Nitrate and Cobalt)
3Ca(s)  +  2Co(NO3)3 (aq)   →    3Ca(NO3)2 (aq)   +  2 Co(s)

1) Silver acetate and sodium phosphate yield (silver phosphate and sodium acetate)
3AgC2H3O2(aq) + Na3PO4(aq)  →  Ag3PO4(s) + 3NaC2H3O2 (aq)
2) aluminum metal and copper(II)chloride yield (aluminum chloride and copper)
2Al(s) + 3CuCl2 (aq)  →  2AlCl3 (aq) +  3Cu(s)
3) The complete combustion of liquid pentane (C5H12) (carbon dioxide and water)
C5H12 (l)  + 8O2(g) →  5CO2 (g)  +  6H2O(g)
4) Iron(III)bromide and fluorine yield (iron(III)fluoride and bromine) 
2FeBr3 (aq)  +  3F2 (g)  →  2FeF3 (aq)  +  3Br2 (l)
5) Tin (II) chloride and sodium sulfate yield (tin(II)sulfate and sodium chloride)
SnCl2 (aq) + Na2SO4 (aq)  → SnSO4 (aq)  +  2NaCl(aq)











NR
6) Copper plus phosphorous yields a copper(II) salt (copper(II)phosphide)
3Cu(s)  +  2P(s)   →  Cu3P2 (s)
7) Sodium chloride and calcium yield (calcium chloride and sodium)
2NaCl (aq)   +  Ca(s)  →  CaCl2 (aq) +  2Na(s)
8) Copper (II) nitrate and sodium phosphate yield (copper(II)phosphate and sodium nitrate)
3Cu(NO3)2 (aq) +  2Na3PO4 (aq) →  Cu3(PO4)2(s)  +  6NaNO3 (aq)

9) Magnesium and chromium(III)iodide yields (magnesium iodide and chromium)
3Mg (s)  +  2CrI3 (aq)  →  3MgI2 (aq)  +  2Cr(s)
10) Aluminum sulfide breaks into elements (aluminum and sulfur)
Al2S3 (s)  →  2Al(s)  +  3S(s)
11) The complete combustion of hexane gas (C6H14) (carbon dioxide and water)
2C6H14 (g)  +  19O2 (g)  →  12CO2(g)  +  14H2O(g)
3
12) Potassium hydroxide and acetic acid yields (potassium acetate and water)

KOH(aq)  +  HC2H3O2 (aq)  →  KC2H3O2 (aq)  +  H2O(l)
13) Aluminum nitrate and sodium hydroxide yields (aluminum hydroxide and sodium nitrate)

Al(NO3)3 (aq)  +  3NaOH (aq)  →  Al(OH)3 (s)  +  3NaNO3 (aq)
14) Potassium and nickel(II)iodide yields (potassium iodide and nickel)

2K(s)  +  NiI2 (aq)  →  2KI(aq)   +  Ni(s)
15) Rubidium sulfate and calcium nitrate yields (rubidium nitrate and calcium sulfate)

Rb2SO4 (aq)  +  Ca(NO3)2 (aq)  →  2RbNO3 (aq) +  CaSO4 (s)
16) Potassium oxide breaks down into elements (potassium and oxygen)

2K2O(s)  →  4K(s)  +  O2 (g)
17) The complete combustion of liquid kerosene (C12H26) (carbon dioxide and water)

2C12H26 (l) +  37O2 (g)  →  24CO2 (g)  +  26H2O (g)
18) Barium and chlorine yield (barium chloride)

Ba(s)  +  Cl2 (g)  →  BaCl2 (s)
19) Calcium and zinc bromide yields (calcium bromide and zinc)

Ca(s)  +  ZnBr2 (aq) →  CaBr2 (aq)  +  Zn(s)
20) Strontium hydroxide and nitric acid yields (strontium nitrate and water)

Sr(OH)2 (aq)  +  2HNO3 (aq)  →  Sr(NO3)2 (aq)  +  2H2O(l)
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